—9—4-2
B =B-2511 — 50

4128 _éﬁf%f__z
Ampm7 o oo B? = B-2511 - 50
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jedeweiterePotenz > 3 = A3, BS = B—2511 — 5[
daMultiplikationmitOimmer0! —520

Of fentsichtlichentstehtbeider Multiplikation
vonBmitBkeineneueMatrizemehr, dahergiltB* = B

2.

n
ESglltA * B = (CU)mltCU = Ofll?"l ;tjundCil- = z aikbki = Qj; * bii

k=1
n

wegenKommutativitatgiltdaherauchb;; * a;; = z b;iray; = Cjund

k=1
daC;j = Oftri # jfolgt(C;;) = B * A.

DarausfolgtB x A = A x BfuirDiagonalmatrizen
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=2>rg(A)=2=>rg(B)=2=>rg(C)=2



